L=5.16m

L=5.16m




02







1 A
24-12-25( ) 55 m3
05 m2
( ) 10t
07
( ) 10t
08
D13 07 t
D16 01 t
D19 07 t







56

H1

16




18

m2

40kN/m2 £ 60kN/m2 120cm

190cm

31

m3




5 A
20 65
25 m3
29 m3
« )
54 m3
( ) 10 11t
54 m3




20

10

4 4.5t 2.9t

30

22




4 4.5t 2.9t

4 4.5t

2.9t

07




10t

SD345 D13

03




10t

SD345 D16 25

03




165

m3




10

m2

62x 48cm

170




40kN/m2 £ 60kN/m2 120cm

190cm

100

m3




-5-21-1




m3

m3




m3

m3




1
24-12-25( )
() ()
C )
24-12-25(20)
[ 1
[J1] = 1 -3
[N1] = 23 24-12-25( ) =2
[J7] = 1 =1
[NZ] =2 =1




S

m2

()

Q)

1
[91] = 1

[J2] = 1




-2- -1

()

Q)

4 4.5t

2.9t




-2- -1

()

Q)

4 4.5t

2.9t

1
[J2] = 2




1 -2-25-1
5
) m3
(D) (D)
[
10t
« )
[ 1
1] = 2 [32] = 1
[J3] =1 DID DID [JE] = 3 5.7km
[0J] = 1




